COP 3223 Section 1 Exam #1

Form A – Multiple Choice
Fall 2006 

9/19/06
Lecturer: Arup Guha

Name: _____________________

NID: _______________________

Directions: This portion of the exam is closed book. Answer all multiple choice questions on the scantron. Each question has a single correct answer. In case of ambiguities, choose the most accurate answer. Each of these questions is worth 3 points for a correct answer. Incorrect answers and questions left blank are worth 0 points. There are a total of 51 possible points to earn on this section. When you finish this section, double check that you have bubbled in your PID and Exam Version on the scantron and then hand in the scantron ONLY. Then you will receive the Free Response portion of the exam, which is out of 49 points. You may start on that section immediately, but may not use your textbook until all students have turned in their scantron.
1) What is the output of the following C statement?


printf("Hello\nWorld\\n.");

a)Hello World.
    b)Hello
c)Hello     d) None of 





 World\
  World\n.     the above
2) Which of the following is not necessary for the Hello World program to compile and run properly?

a) function main     b) header comment     c) The printf statement    d) None of the above
Questions 3 through 5 refer to the following C program:

#include <stdio.h>

int main(void) {

  double taxrate;

  int itemvalue;

  printf("Enter the state sales tax as a percentage.\n");

  /*** stmt1 ***/

  printf("Enter the price of the item, (an integer.)\n");

  /*** stmt2 ***/

  printf("Your total price is %1.2lf.\n", /*** exp3 ***/);

  return 0;

}

3) Assuming that the statement that needs to be inserted into the slot /***  stmt1 ***/ reads in the sales tax percentage into the variable taxrate, which of the following statements properly completes the task?

a) scanf(taxrate); b) scanf("%d", taxrate); c) scanf("%d", &taxrate); d)None of the above
4) Assuming that the statement that needs to be inserted into the slot /***  stmt2 ***/ reads in the cost of an item into the variable itemvalue, which of the following statements properly completes the task?

a) scanf("%d");  b) scanf("%d", itemvalue);  c) scanf("%d", &itemvalue);  d) None of the 










       above
5) Assuming that the last statement prints out the total cost of an item with the price itemvalue taxed at the percentage stored in taxrate, which of the following expressions should replace /*** exp3 ***/?

a) taxrate*itemvalue
b) (1+taxrate/100)*itemvalue
c) (1+taxrate)*itemvalue  d) None of 











       the above
6) What type of directive is a #define?

a) preprocessor    b) compiling    c) run-time    d) execution time     e) None of the above
7) Which of the following can not be used as a variable name in a C program?

a) hello
b) world
c) ifthen
d) dowhile
e) None of the above
8) What is the value of the following C expression?


1+2-3*4/5-6+7*8/9

a) 0

b) .22
   
c) .82

d) 1

e) None of the above
9) Which of the following statements could be valid?

a) cnt++;
b) 7++;
c) (cnt+1)++;
d) ++1/cnt;
e) None of the above
10) Which of the following statements changes the value of the positive int variable x?

a) x = x%(2*x);     b) x == x+1;
c) x--;
      d) y = x;     e) None of the above


Questions 11 and 12 refer to the following C program:
#include <stdio.h>

int main(void) {

  int num;

  scanf("%d", &num);

  if (num > 5 && num <= 18)

    if (num < 3 || num > 2)

      printf("A.\n");

  else

    printf("B.\n");

  return 0;

}

11) Assuming that the program produced output on a particular test run, what is the output it produced?

a)A.
b)B.
c) A.

d) Can't be determined 
e) None of the above


    B.                     
12) How many different positive integers less than 19 entered for num cause the program to produce no output?

a) 0

b) 4

c) 5

d) 6
e) None of the above
13) What is the output of the following segment of code? (Assume that sum and index are declared as integer variables.


sum = 0;

     for (index = 1; index < 5; index++);

       sum += index;

     printf("%d %d\n", sum, index);

a)10 4
b)10 5
c)15 5
d)0 5
e)5 5

14) What is the output of the following segment of code? (Assume that cnt and num are declared as integer variables.


cnt = 0;

     num = 100; 

            while (num > 0) {

         if (num < 10)

           cnt++;

         num--;

     } 


printf("%d\n", cnt);
a)8

b)9

c)10

d)45
    e)None of the above
15) Let a, b, c, d, and e be int variables all with the value of 0 or 1. How many possible combinations of values of these variables would make the following boolean expression true?

(a && b && c) || !(d || e)

a)1
  b)4
c)12

d)16

e)None of the above
16) Which of the following expressions is illegal in C? (Assuming a, b, and c are int variables.)

a) a > b > c
b) a = b == c
c) a == b
d) (a > b) != c

e) None of the above
17) Which of the following expressions will be true if and only if the int variable b is greater than the int variable a and less than the int variable c?

a) c > b > a
b) b > a < c
c) a < b || b < c
     d) b > a && c > b
e) None of the above
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Exam 1 Free Response Answer Sheet

Last Name: ____________ , First Name: _____________

1) (10 pts) Write a whole C program that prints the following:

Welcome to C Programming!

This program says, "Hello!"

and Goodbye!

2) (10 pts) Complete the program below so that it prompts the user for the number of people at a party, the total number of pizzas bought and the total number of slices per pizza, and then prints out the number of whole slices that each person at the party can have. (So, if there were 5 people and 4 pizzas with 3 slices each, each person at the party could have 2 slices.)

#include <stdio.h>

int main() {

  int people, pizzas, slices;

  ___________________ ;

  printf("Enter the number of people at the party.\n");

  ___________________ ;

  printf("Enter the number of pizzas bought.\n");

  ___________________ ;

  printf("Enter the number of slices per pizza.\n");

  ___________________ ;

  _________________________ ;

  printf("Each person gets %d slices.\n", ____________ );

  return 0;

}

3) (14 pts) Tom is a marathon runner, but no matter how hard he tries, he ends up slowing down over the course or running a marathon. In particular, for the first hour, he runs at 10 miles/hour. For the second hour he runs at 8 miles/hour. For the third hour and each hour thereafter, he runs at 6 miles an hour. You may assume that he immediately changes speeds at the end of each hour. Complete the program below so that it prompts the user for how long Tom is going to run in hours (which is guaranteed to be a positive real number) and determines how long (in miles) Tom will run in that time. The output should be accurately rounded to two decimal places.

#include <stdio.h>

int main() {

  double hours, miles;

  printf("How long in hours will Tom run today?\n");

  scanf("%lf", &hours);

  return 0;

}

4) (15 pts) Complete the program below so that it asks the user to enter a positive integer n and then prints out a design of n rows in the pattern below:

1

1 2

1 2 3

1 2 3 4

…

1 2 3 4 … n

Note: your program should NOT print exactly 4 rows and it should NOT print ellipses(…)

#include <stdio.h>

int main() {

  int n;

  ______________________ ;

  printf("Enter the number of rows in the pattern.\n");

  scanf("%d", &n);

  return 0;

}
